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-} Pendulum animation - 10| x|

File Edit Yiew Insert Tools Window Help

N

Cloze

11

function [sys,x0,str,ts]=animat(t,x,u,flag,Te)
global pendulum ;
switch flag
case 0
animinit("Pendulum animation®);



pendulum=Ffindobj (" Type", "figure®, "Name", "Pendulum
animation®);
axis([-100 110 -10 90]);
hold on;
plot([-100 110],[0 0], "blue®,[-100:110;-100:110],[-2
0], "blue®,"Linewidth*,2);
mx=[0 -10 -10 10 10 0 0 0];
my=[6 6 0 0 6 6 33 63];
hndl=plot(mx,my, "red”, "erasemode”, "xor", " linewidth",2);
set(gca, "UserData” ,hndl);
[sys,x0,str,ts]=Initialisation(Te);
case 2
it any(get(0, "Children®)==pendulum)
if strcmp(get(pendulum, *Name*®), "Pendulum animation®)
set(0, "currentfigure”,pendulum);
hndl=get(gca, "UserData");
cx=20*u(1);
[tetayl,tetaxl]=pol2cart((u(2))*1,30);
pxl=cx+tetaxl;
[tetay2,tetax2]=pol2cart((u(2)+u(3))*1,30);
px2=px1l+tetax2;
mx=[cx cx-10 cx-10 cx+10 cx+10 cx px1 px2];
my=[6 6 0 0 6 6 6+tetayl 6+tetayl+tetay?];
set(hndl, "Xdata" ,mx, "Ydata® ,my);
drawnow;
end
end
sys=L1;
case {1,3,4,9}
sys=L1:
otherwise
error(["Unhandled falg=",num2str(flag)]);
end
function [sys,x0,str,ts]=Initialisation(Te);
sizes=simsizes;
sizes._NumContStates=0;
sizes.NumDiscStates=0;
sizes._NumOutputs=0;
sizes._Numlnputs=3;
sizes.DirFeedthrough=0;
sizes.NumSampleTimes=1;
sys=simsizes(sizes);
x0=[];
str=[1;



ts=[Te 0];



